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SUMMATIVE ASSESSMENT-II (CLASS-X) 3/2018
SUBJECT : SCIENCE (SET-B)

Time : 3 Hrs. M.M.: 90

General Instructions :

1.

o

8.

ol.
Q2.
Q3.

Q4.

Q5.

The question paper comprises of two Sections, A and B. You are to attempt
both the sections.

All qﬁestians are compulsory.

All questions of Section-A and all guestions of Section-B are to be
attemptied separately.

Question numbers 1 to 3 in Section-A are one mark questions. These are
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section-A are two marks guestions. These
are to be answered in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These
are to be answered in about 50 words eqch.

Question numbers 19 to 24 in Section-A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions
based on practical skills. Each question is a one mark question, You
are to select one most appropriate response out of the four provided to
you.

Question numbers 34 to 36 in Section-B are questions based on practical
skills and are two marks questions.

SECTION-A
Name two allotropes of carbon.
Name one sexually transmitted disease caused by bacteria.

Name the part of human eye that helps in changing the focal length of the eye
lens.

Refractive index of a glass sample is 1.52 and relractive index of ruby is 1,71,
I the speed of light in vacuum is 3 x 10° m/s, find the speed of light in glass
and in ruby.

State any two reasons due to which construction of large dams is opposed.
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Q15 Why do different colours get separated when white light passes through prism?

314,

Q15.

Q16.

Q17
Q18.

Q19.

020.

How can we recombine the components of white light after a prism has
separated them. Explain with the help of a diagram.

(@) Suggest a few measures for controlling CO, levels in the atmosphere.
(any 2)

(b) Name any two stakeholders who derive benefit from forest, By plain how
are they dependent on forest.

(a)  Mention the role of placenta in the development of embryo inside the
mother’s body.

(b)  Explain the barrier methods of contraception.

(@) Draw a well labelled diagram to show regeneration in Planaria,

(b} Enlist the various changes that take place in a flower after fertilisation.
Explain how geographical isolation, leads to formation of new species.

Mr. Bhatia wanted to buy a new refrigerator and a new air conditioner in
place of old ones. Before buying the new refrigerator and air conditioner, his
son Ankit asked the various details from the shopkeeper and made sure that
they did not contain old refrigerant which was not environment fricndly. The
shopkeeper told him that these items now work with the new, eco-friendly
refrigerant. Mr. Bhatia was puzzled by all this discussion. When they reached
home, Ankit explained everything to his father. Ankit’s father was happy at
his choice.,

)  What were the refrigerants used in earlier refrigerators and air
conditioners? '

(i)  State the harmful effect of old refrigerants on the environment, in case
of leakage.

(ii) What values are displayed by Ankit in this episode?

(a) Draw a neat diagram showing germination of pollen on the stigma and
label the following :

stamen, male gamete, ovary, ovule
(b)  What is the role of seminal vesicles and prostate glands in human males?

Genotype of a plant bearing purple flowers is PP and one with white flowers is
pPp. When these are crossed -

(@  What colour of the flower would you find in F| progeny?

(£-3)



()
(c)

Give the percentage of white flowers if I', plants are self pollinated.

In what ratio do you find PP and Pp in F, progeny”

Support your answers with genetic cross.

Q21. (a)

(b)
Q22. (a)

(b)

Name any 3 vegetables generated from a common ancestor wild cabbage
through artificial selection. Also, mention the features for which carh
vegetable is selected.

How can we determine the age of fossils?

Two lenses have power of (i) +2D (ii) ~4D. What is the nature and focal
length of each lens?

An object is kepl at a distance of 100 cm from each of above lenses.
Calculate the image distance in each of the two cases.

Q23. Arun is a student of class X. One day. when he was coming from his school,
he saw an old man who was unable to see nearby objects clearly.

(a)
(b)
(c)
(d)

Q24. (a)
(b)

Name the defect of vision the old man was suffering from.
Name the lens used to correct this defect.
State two causes of this defect.

With the help of labelled ray diagram show how this defect can be
corrected.

Enlist two drawbacks of Mendeleev's classification of elements.

Observe the given (able and answer the following questions
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()  Which of these is a Noble gas, and a Halogen?
() Which of these is the most reactive metal in 3" period?
(i) ldentify the most clectronegative element in the 3™ period.
(iv) Inthecompound between B and I what type of bond will be formed?
(v) What would be the nature of oxide formed by C?
SECTION-B

Q25. Acetic acid was added to a solid X kept in a test tube. A colourless, odourless
gas 'Y' was evolved. The gas 'Y was passed through lime water, which turned
it milky. It was concluded that -
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(@) Solid X is sodium hydroxide and the gas Y is €O,

286.

Q27.

Q28.

Q29.

Q30.

(b} Solid X is sodium bicarbonate and the gas Y iz CO,
(¢} Solid X is sodium acetate and the gas Y is CO,
(d) Solid X is sodium bicarbonate and the gas Y is 50,

In a saponification reaction, along with soap, the following subslance is also
formed-

(a) Glucose (b) Glycol
(¢) Glycerol (d) Qelatine

Hard water required for an experiment is not available in a school laboratory.
However, following salts are available in the laboratory. Select the salts which
may be dissolved in water to make it hard for the experiment.

()  Calcium sulphate (i) sodium sulphate
(iii) potassium sulphate (iv) zinc sulphate
The correct choice of salt will be-

(@) only (i (b) (1) and (iii)

(© (i) and (iv) (d) only (iv)

A student is to find the focal length of (i) concave mirror (i) convex lens by
focussing the image of a distant object on a screen. He will observe that the
screen is on the same side as that of the object in -

(@) both cases (b) case (i) but not in case (i)
(¢) case (ii) but not in case (i) (d) neither case (ii) nor in case (i)

Two students carry out the experiment of tracing the path of a ray of light
through a rectangular glass slab with i = 30. He obtain £r and Ze as -

@ 4Zr=19° /e=30° (b) Zr=30° Ze=30°
6} £r =32 Ze'm u)° (d) Zr=47° Ze=232°

The path of a ray of light passing through a glass
prism is shown. In this diagram the angle of prism,
angle of incidence, angle of emergence and angle of
deviation respectively have been represented by -

(a) O.Y,ZandN
(b) P,Y.MandZ
© O.X.MandZ
(d P X ZandN
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(31. Budding in yeast i$ correctly illustrated by the diagram

L6 ikl

(a) 1 (b) 1
() Ul d W

Q32. In order to adjust a compound microscope for observing binary fission in
amocha using prepared slides, (he following steps are required. However these
steps are not in proper sequence.

() Place the slide on the stage.

(i) Focus the object using low power.

(i) Adjust the mirror so that sufficient light enters into the microscope.
(iv) Adjust to high power.

The correct sequence of these steps 1s -

(@ UL LILIV by MLILLIV

(© LILIV I @) LILILIV
(233. Food required for growth of embryo in the seed is present in -

(a) radicle (b) plumule

(¢) cotyledons (d) seed coat

Q34. Hands of man, wings of bird and forelimbs of frog are homologous or analagous
organs? Explain.
Q35. A ray of light is incident normally to the surface of a glass slab in air. Find the
angle of incidence and angle of refraction in this case.
Q36. (a) Where should an object be placed 8o that a virtual, ercct and larger
image is obtained by a convex lens?

(b) While performing an experiment to find the focal length of a mirror, the
distance between the mirror and the wall for clear image 18 found to be
10 cr. What is the radius of curvature of the mirror?
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SUMMATIVE ASSESSMENT-II {EZM;SS—F{} 3/2010
SUBJECT : MATHEMATICS (SET -B)

Time : 3 Hrs. _ M.M.: 90

General Instructions :

1. All questions are compulsory. _

2. The question paper consists of 31 questions divided into four sections
A, B, Cand D. '

3. Section-A contains 4 questions of 1 mark ea;h. Section-B contains 6
guestions of 2 marks each. Section-C contains 10 questions of 3 marks
each. Section D contains 11 questions of 4 marlks each.

4, Use of calculator is not permitted.

SECTION-A |
Q1. Find the common difference of an A.P. in which a4 - a,, = 32. .

Q2. A letter of English alphabet is choscn at random. Determine the probabilily
that a letter does not come in the word MATHEMATICS.

(3. For what value of k, is 3 a root of the equation 2% + x+ k=07
Q4. Find the distance of the point (-6, 8) from the Urigm.
SECTION-B

(35. Find the aumber of natural numbers between 201 and 999 which are divisible
by 10. :

Q6. The area of a rectangle is 800 cm?. Its length is 2 em more than thrice its
width. Find the length and the width of the rectangle.

Q7. A 20 m deep well with diameter 7 m Is dug and the carth from digging is

evenly spread out to form a platform 22 m by 14 m. Find the height of the
platform.

Q8. If P (x. y)is a point on the line segment joining the points A (a, b) and 2 (b, &),
then prove that x +y = a + b, '

(9. A cubical block of side 14 cm is surmounied by a hemisphere of radiug 7 em.
Find the surface area of the solid.
Q10. If the perimeter of a semicireular protractor is 72 em, find the diameter of the
protractor.
SECTION-C :
Q11. Prove that the lengths of two tangents drawnm from an cxternal point o a
circle are equal.

(E-1)



Q12.

Q183.

Ql4.
Q15.

Q16.

Bl

Q18.

Q19.

Q20.

Draw a right triangle in which the sides containing right angle arc'b cm and
5
4 cm. Construct a triangle similar o this triangle whose sides are 3 tirnes

the corresponding sides of the above triangle.

A cylinder has the same volume as a sphere of radius 4 em. The height of
eylinder is two-third of its diameter. Caleulate the radius of the base of the
cylinder.

Is zero a term of the A.P. : 31, 28, 25, .....2 Justily your answcr.

The sum of the squares of two consecutive positive numbers is 481. Find the
numbers,

A bag contains 5 white balls, 7 red balls, 4 black balls and 2 bluc balls, One
ball is drawn at random from the bag, Find the probability that the ball drawn
is (a) white or blue (b) not white (c) neither white nor black. '

A toy is in the form of a cone mounted on a hemisphere of radius 3.5 cm. If
the total height of the toy is 15.5 em, find its total surface area.
g P
In the figure, XY and XY are two X -— - ) =Y
parallel tangents to a circle with
centre O and another tangent AB
with point of contact C intersects -
XY at A and XY’ at B. Prove that i g

/AOB = 90°. Q B

A square cardboard sheet with area 784 em? has four congruent circular

plates as shown in thefigure. Find the arca of the sheet not covered by cireular
D— e

plates.

A B

A man repays a loan of ¥ 6,100 by paying ¥ x in the first month and then
increases the payment by 75 every month. If he repays this loan in 8 months,
find the money paid by him each month.
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Q21.

Q22,

023;

924,
Q25.
026.

Q27.

(328.

- Q29.

Q30.

SECTION-D

The sum of the 2_11{1 and 7th terms of an A.P. is 30. If its 15(h term is 1 less
than twice its 8th term, find the AP
From the top of a.cliff 150 m high, the angles of depression of two boats are
45° and 30°. Find the distance between the boats, if the boats arc on the sane
side of the cliff.
Find the coordinates of the points which divide the line segment joining the
points A (-2, 2) and B (2. 8) into four equal parts,
A cap is shaped like the frustum of a cone. If its radius on the open side is
10 em, the radius at the upper base is 4 em and its slant height is 15 em, find
the area of the material used for making it.
From a point P on the ground, the angle of elevation of the lopofa 10 m tall
building and a helicopter, hovering over the top of the building; are 30° and
60° respectively, Find the height of the helicopter above the ground.
Draw a circle of radius 4 em. Take two points A and B on one of iis extended
diameter each at a distance of 7 em from its centre. Draw tangents to the
circle from these two points A and B,
Show that the points (0, ~1), (2. 8), (6, 7) and (8, 3} are the vertices of a
rectangle.
(a) Two fair dice, one blue and one grey, are thrown simultaneously. Find

the probability of getting (i) six as a product (i) sum 7 (iti) a doublet.
(b)  Which value is being depicied here by using lair dice?
Find the discriminant of the following equation and hence find the nature of

roots. Also find them, if they are real : x* - 15x+ 14 = 0

In a circle of radius 14 em, an arc subtends an angle of 90° at the centye,
Find: |

(@)  area of the sector formed by the are

(b) arca of the segment formed by the corresponding chord

. (@)  Prove that the tangents drawn at the ends of a diameter of a circle are

parallel.

(b) Ifa point Pis 17 cm from the centre of a circle of diameter 16 em, then
find the length of the tangent drawn to the circle from point P,
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SUMMATIVE ASSESSMENT-II (CLASS-X) 3/2016
SUBJECT : SOCIAL SCIENCE (SET-B)

Time : 3 Hrs. M.M.: 80
General Instructions ;

1.
2.

6.
Ql.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.
Q9.

Q10.

Q11.

Q12.
Q13.

Q14
Q15.

There are 29 questions in all. All questions are compulsory.

Questions from serial no, 1 to 8 are very short answer type questions.,
Each question carries one mark.

Questions from serial no. 9 to 20 are 3 marks questions. Answer of
these questions should not exceed 80 words each.

Questions from serial no. 21 to 28 are 5 marks questions. Answer of
these questions should not exceed 120 words each.

Question number 29(a) is a map guestion of 3 marks from History and
Question number 29(b) is a map guestion of 3 marks from Geography.

Attach the filled up map inside your answer sheet.

Which treaty recognised Greece as an independent nation? (1)
State any two advantages of air transport. (Va+lh=1)
Why is sugar industry seasonal in nature? (1)
State any two impacts of noise pollution on human beings. (Yat+le=1)
Why do lenders ask for collateral while lending? (1)
‘There is a need for consumer protection’. Give any one reason. (1)
How do MNCs help in the growth of local companies? (Vot+lo=1)
Mention the main cause of the popular struggle in Bolivia. (1)

What was the conservatives ideology during early 19th century Europe? (1x3=3)

‘The 1830s were years of great economic hardship in Europe’. Justify the
statement. (1x3=3)
Describe any three problems faced by the peasants of Awadh in the days of
non-cooperation movement. _ (1x3=3)
Briefly explain the importance of manufacturing industries? (1x3=3)
‘City roads suffer from chronic traffic congestions leading to excessive pollution‘_
What steps should we take to overcome this problem? (1x3=3)
State any three advantages of water transport. (1x3=3)
How can minerals be conserved? (1x3=3

(E-1)



Q16. Describe two different ways of people’s participation in a struggle to achieve

their specific aim. (1¥o41V5-3)
Q17. The challenge of deepening of democracy is faced by every democratic country
in one form or another’. Explain. (1x3=3)
Q18. What is liberalisation? How has liberalisation of foreign trade and investment
policies helped the globalisation process? (1+2=3)
Q19. What are consumer forums? (1x3=3)
Q20. Explain the significance of Self Help Groups in rural areas. (1x3=3)

Q21. Enlist any five practices introduced by the French revolutionaries to create a
sense of collective identity amongst the French people. (1x5=5)

Q22.(a) What was Rowlatt Act?

(b) How did the First World War create a new eéconomic and political situation
which increased hardships of the common people? (1x5=5)

@23, Distinguish between conventional and non-conventional sources of energy.
(1x5=5)

Q24. Describe briefly the two types of pressure groups found in India. (2V2+2Y6=5)

Q25. How does democracy produce an accountable, responsive and legitimate

government? (1x5=5)

Q26. Explain the various functions political parties perform in a democracy.
(1x5=0)
@27. Distinguish between formal and informal sources of credit. (5)

028. ‘Consumers are exploited in the market place by unfair trade practices of
producers and sellers’. In the light of this statement. mention the ways in
which they are exploited. _ (1x5=5)
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020.(a) Locate and label the following on the given political map of India.
- (1x3=3)
(@) the place where Gandhiji broke the salt law.

(i) the session of Indian National Congress was held here in 1927.

(iii) The place where Jallianwala Bagh incident took place.

Q29.(b) () Locate and label the following features on the same outline map of
India political. (1+1=2)

(a) an international airport in Chennai
(b) a coal mine in Odisha
() Identify the following features A and B (Va+'o=1)
(A) a cotton textile centre
(B) a nuclear power plant
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93.
T4.

5.

96.
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SUMMATIVE ASSESSMENT-IT (CLASS- X) 3/2016
SUBJECT ;: FRENCH
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La petite araignée

La petite araignée habite dans une toile, Elle a tissé sa toile dans un champ. Il y a des toumnesols
dans le champ. La petite araignée a huit pattes et six yeux. La petite araignée mange des insectes
tels que des mouches et des fourmis. Elle les attrape dans sa toile. ' :
Chaque jour la petite araignée tisse une nouvelle toile ! La petite araignée tisse sa toile avec de la
soie. La soie d’araignée est trés solide. Savez-vous ce qu’elle fait de sa vieille toile ? Elle Ia roule
et elle la mange! Miam miam! :
Toutes les araignées fabriquent de la soie. Toutes les araignées ne tissent pas de toiles. Quelquefois
les araignées fabriquent des abris pour se cacher. La petite araignée a peur des gens. Elle ne veut
pas faire de mal aux gens. La petite araignée veut simplement vivre (ranquille ¢t manger des bons
plats de mouches ! ;
1. Répondez aux questions. €]

1. Ou habite-t-elle la petiic araipnée ?
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3. Qulest-ce que la petite araignée mange 7

- Qu’est-ce que toutes les araignées fabriquent ?

o

2. Dites vrai oy faux.
1. Toutes les araignées tissent des toiles.
2. La petite araignée T R i
3. La pctite araignée fait mal aux o el ool i -
4. La petite araignée a huit pattes, .
5. La petite araignée est un animal.
3. Complétez avec le mot du texte.
1. J'achéte une ........................_...... voiture blanche. (roule/nouvelle/soie)

2. Lo tagits estem .0 o o . (soie/toile/gens)
3. C'estune........cccoeeucee....cc.......... maison de mes grands-parents. (bonng/champ/petite)
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4. Trouvez dans le texte.
1. Le confraire de ‘mauvais” oo
2. Le synonyme de ‘forte’
3. les noms des insectes kSR g ek Vi
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1 Sohan écrit a son ami pour lui décrire le moyen de transport én France.

(30 mots) ;
3. Mettez le dialogue en ordre.
La dame : Les deux. Donnez-moi aussi de 1'aspirine !
La dame - Je ne suis pas allée chez le médecin. Cest fermé maintenant.
La dame . D*accord. C’est tout | Combien je vous dois payer ?
La dame : Bonjour Monsieur ! Je voudrais quelques médicaments pour Ja toux
&"il vous plait.
Le pharmacien : Pas dc probléme. Voudrez-vous des pastilles ou du sirop 7
La dame - Merei.

Le pharmacien : Donnez-moi une ordonnance ?
Le pharmacien : Oni Madame. Ce sera tout 7
Le pharmacien : C'est 52 €.
4. Complétez le courriel électronique avec les mots donnés au-dessous.
(veeux, cadeaux, anniversaire, cher, restaurant)
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2. Vous ites allés chez votre ami(e). Malheureusement il n’est pas la. Laissez un message.

g
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Objet : La joie d’anniversaire :

De : Nitin@gmail.com : ' le 11 avnil, 4h45

A: abhincct@hotmail.éom

.................. Abhineet, i

Comment ca va 7 Merci pcrur la cudede. i seeene . Tu n*as pas oublié mon .

¥ai bien fété mon anniversaire. J’ ai invité tous mes amis au . ted, sde mon quamer
Ils m’ont apporté beaucoup de .....cowuweee . Nous nous sommes blcn amusés

Nitin

L Complétez avec 'adjectif ou le pronom possessif. (attention a la contraction)

) DR Y plus confortable que ... T

z I’al dnnné les a;hocolats - _enfants, avez-vous les donnés & ... -
S T | AR hﬁms 011 SORL s ?

4. Nous parlons @ .......e. .. parents. Parleni-ils & . TR

5. Peux-tu me préter ....omeeeess $ty10 2 .uvvvv-oveeiinnnnns NE MArche plus.
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3. Complétez les phrascs avee Jes pronoms relatifs composés. (N’onbliez pﬂé d’sjouter les

prépositions.) (%)
1. Crest la mEme Chansom oo N A il a regu un prix.
2. Le restaurant ..o {u habites n’est pas bon.
1. Voici mes cousings ... . je suis allée en France.
4 Je viens de chercher mon pnrtcfeuﬂle ............. j'ai mis mon permis de conduire.
5. Ce SONLMES SEEUTS cooocummmmarirriess j& compte beauwup
3. Remplacez le noms par des pronoms personnels (ils, 1a, lui, y, en): O
1. Marc n’aime pas la viande.
2. gg_lm_e_g.sont trés intéressants.
3 llsne teléphonent pas 2 Ieur onclg
4. Tu reviens tard du bureau.
5. Les cousins de Luc attendent 1eur tante la gare
4, Lomplétez avec les adjecui's ou les prouams ﬂémonstrntifs. (5)
1. Parmi .. .. tableaux de Van Gogh, je préfere .- o PAS Lot ¥
2. Pai fait des cr&pcs Nous MANgerons ... a mu‘h ct .............. au gﬂﬂtu
C B s T vol de Bh est & I’heurs, MALE ovreecrreee de 8h30 esten r:tard
4. La cartc d{, cc restaurant propose deux menus. Prends e que tu préferes.
g, ai . ANRONCE (UE IRE avions lue dans le journal cst plus intéressante que PREP S
5. Ecrivez au négatlf en utilisant ne...pas. Je....rien, personné...ne atc: )
1. Vous aimez la cuisine frangaise.
2.1lya qua!que cho5e spus cette chaise.
3. Quelgu’un vous attend devant la porte.
4. Nous écrivons des lettres.
5.Nos studiants font beaucoup de fautes.
&)

6. Mettez les phrascs suwantes au - discours indirect.
1. Elle m’annonce « I’ ai recu une lettre de ma sceur la semaine dernicre. »

.............................................................
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2. Ll prvicsseur ant « ge Vvous interrogerai tous demain, »

S

- Ils répondent « Nous ne viendrong pas chez toi ce soir. »

4. Il me avertit « Dépéche-toi ! »

5. Elle dit 4 ses parents « Je vous t¢léphonerai dés que je serai arrivée. »

...........

7 Choisissez le temps des verbes entre parentheses et récrivez:

1. S'il fait beau, vous (allez, irez, iriez) 3 |3 plage. ©)
2. 5'il {#tudie, avait étudié, étudiera) tous Jes jours, il gagnera ce concoyrs. .
3. Quand nous aurons fin nos devoirs, noys (nous Promenerans, nous Promeénerons, nous
proménerions)
4. Situ m’avais donng le livre , je te ( le rendrais, I'aurais rendu, I"avait rendu).
>- quand nous (sommes, Etions, avons été) jeunes, nous habitions & Delhi. B
1. Répondez aux questions suivantes, (5)
1. Quiélit le Président frangais? pour combien d'ans est.j| élu?
2. Que fait-on sj on tombe sur un répondeyr?
3. Quiest le chef des arméas francaises?
4. Quiest-ce que c’est Halepid?
5. Qu'est-ce_qui est un droit humain fundamenta?
2. Complétez les phrases suivantes, : (5
I. Les membres de I’ Assemblée Nationale sont elogpar i otin nn .
- ML T un outil mag:iiﬁque de la communication et de Iinformation.
3. Quand on est malade, onvachezle ... :
4. Le médecin prescrit des T R
5. Myaenviron ... langues parlées en Inde.
3. Chassez ’intrus, - 3
5 Faccbook/Sk}'pefGoegle
2. MP/TGV/MLA
3. lasanté/ e yoga/ le sport

S

infurmaticicn!médecin/écran

unité centrale / internet / imprimante
6. moto/voiture/ordinateur

4. Faites des phrases, ' (1
1. Passer une nuit blanche
2. Passer un coup de fi] & quelqu’un

“
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Dites vrai ou faux. 3)
1. Le premier Ministre indien vii au Rashtrapai BRAVAN: 5 55 oo cssiticsoiae i
2. Manger plus de fast-food est bonne pour la santé. - e e
3. Aujourd’hui I’Internet est devenu p'rcsquc indispensable. .
Reliez les deux c:;!onnes et récrivez: & - 3
Colonne A Caolonne B

1. Ma sceur va chez le dentise a) un message

2. Protéger b) le mot de passe

3. Voyager ¢) 'environnement

4, Laisser d) parce qu’elle a mal aux dents

5. Veérifier e) Président frangais

6. Palais de I'Elysees f) carte Orange

?




